
PARTS LIST DRAWINGS

S-W124 (1)

P-SP2-106 (1)

FUSE

S-H201 (1)

W-SC-3501FR (5)

W-SC-3501MX (4)

K-P103-CHASSIS (1)

steel chassis & cover plate

detachable power cord

power cord receptacle

fuse holder

phono (RCA) 

jacks

phono (RCA) 

plugs

1

¼” mono jack (non-shorting)

W-SC-11 (1)

¼” mono jack (tip shunt)

W-SC-12A (2)

SLEEVE TIP

SHUNT

chicken head knobs - white

P-K300W (2)

10kΩ "dwell" potentiometer

R-V38-10KL (1)

500kΩ "reverb" potentiometer

R-V38-500KL (1)

DPDT Mini Toggle Switch

P-H541 (1)

P-H35-146 (1)

power switch (DPDT)

P-L115 (1)

jewel lens - red

P-L124-P (1)

lamp holder

P-47 (1)

bulb/lamp (bayonet base)

fuse (1A Fast Blow)

F-ZF010 (1)

P-H9107 (4)

rubber feet

#

6

#

6

#

6

P-RMOD-9AB3C1B (1)

spring reverb tank

16 ¾"

P-ST9-600 (4)

9 pin miniature tube socket

P-SS9-325-BL (4)

tube shield

top base

SLEEVE TIP



1MΩ Resistor ½ W

R-A1M (1)

brown

black

green

gold

1M

5W 1Ω

R-Q1 (1)

1Ω, 5W resistor

22µF 450V

C-ET22-450 (4)

22µF, 450V capacitor

C-ET25-25 (3)

25µF, 25V capacitor

25µF 25V

2

1.0µF

C-MKP1-400 (1)

1µF, 400V capacitor

.047µF

630V

C-MD047-630 (1)

.047µF, 630V capacitor

.01µF
630V

C-MD01-630 (2)

.01µF, 630V capacitor

C-MD1-630 (3)

.1µF, 630V capacitor
.1µF

630V

C-SM220 (1)

220pF, 500V capacitor

220

500V

C-SM500 (1)

500pF, 500V capacitor

500

500V

P-Q1N4007 (4)

solid state diode

S-W807L-M (7 ft)

green 20 AWG solid core cloth-covered wire

K-P01-0006-BLU (16 ft)

blue 22 AWG stranded hook-up wire

S-W111 (4 ft)

tin braid 22 AWG stranded wire

S-W112 (3 ft)

RG 174/U shielded 26 AWG stranded wire

100kΩ Resistor ½ W

R-A100K (5)

brown

black

yellow

gold

100K

10kΩ Resistor ½ W

R-A10K (4)

brown

black

orange

gold

10K

1kΩ Resistor ½ W

R-A1K (1)

brown

black

red

gold

1K

1.5kΩ Resistor ½ W

R-A1D5K (4)

brown

green

red

gold

1.5K

2.2kΩ Resistor ½ W

R-A2D2K (1)

red

red

red

gold

2.2K

220kΩ Resistor ½ W

R-A220K (2)

red

red

yellow

gold

220K

470kΩ Resistor ½ W

R-A470K (2)

yellow

violet

yellow

gold

470K

2MΩ Resistor ½ W

R-A2M (2)

red

black

green

gold

2M



3

P-T290WX (1)

power transformer

P-T1750A (1)

audio transformer

P-TF22921

290WX

T-12AX7-S-JJ (3)

ECC83/12AX7 tube

T-12AT7-JJ (1)

ECC81/12AT7 tube

E
C

C
 8

1
E

C
C

8
3
S

P-G038 (3)

rubber grommets

P-0201H (1)

terminal strip w/ 2 terminals

P-0301H (2)

terminal strip w/ 3 terminals

P-0401H (3)

terminal strip w/ 4 terminals

P-0501H (1)

terminal strip w/ 5 terminals

P-0601H02 (2)

terminal strip w/ 6 terminals

P-0802H (1)

terminal strip w/ 8 terminals

S-HHN1032 (10)

S-HLW10 (10)

S-HS1032-34 (4)

#10 screw, ¾" length

S-HS1032-12 (6)

#10 screw, ½" length

#10 lock washer

#10 hex nut

S-HW10 (4)

#10 hex nut

S-HS832-12 (2)

S-HHN832 (2)

S-HST8-38 (4)

#8 screw, ½" length

S-HLW8 (2)

#8 lock washer

#8 hex nut

#8 self-tap screws

S-H112 (7)

#6 locking lug

S-HLW4 (6)

S-HHN440 (10)

S-HS440-38 (10)

#4 screw, 3/8" length

S-HS632-38 (13)

S-HLW6 (10)

S-HHN632 (13)

#6 screw, 3/8" length

#6 hex nut

#6 lock washer

#4 hex nut

#4 lock washer

TOOL LIST

 Wire Strippers

 Needle Nose Pliers

 Cutting Pliers

 Desoldering Pump

 Solder (60/40 rosin core)

 Soldering Station

 Phillips Head Screwdrivers

 Slotted tip screwdrivers (3mm tip)

 Digital Multimeter (DMM)

 Alligator Clip Test Leads (to fit DMM)

 Channellock Pliers (or similar type)

 Miniature Round File (fine cut)

P-T1750A


	The Wave Instructions (combo 2020).vsd
	Parts 1
	Parts 2
	Parts 3


